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#include <stdio.h>

void test(void);

// FALEATEE

//
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//
int main(void){
int i; - — A
printf("fuga at main = %d\n", fuga);
rintf ("hoge at main = %d\n", hoge);
p g g =
test(); S & @
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for(i=1; i<3; i++){ | -7/7HESD= R 2 ]
int bar=444; 4 — e RS ir
printf ("bar at for loop = %d\n", bar); /E S é[ S S
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return O;; S
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void test(void){ - k‘j =R
int £00=333; <~ | PANEM | RiE
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printf("foo at test = %d\n", foo); o 9
printf("foo at test = %d\n", hoge); L
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extern int fugafuga;

register int foo;
static int bar;

oood

oo0o0004000000000D0 staticOUDOOO0OO0OO0O0OO0ODOOOOOOO0OOOOOOOOO
doodstbbooboboboboooooboboobooooooboobboooooooobogn

2.2 O00O0OOO0OOOOO
2.2.1 0000 (auto)

gooobobobboouobobobobooobooobobobbooboboobobobooboaa
gooboboobooboogooboboboboobuooobooboboobooboooo

auto int hogehoge;
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1 | #include <stdio.h>
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int hoge(void);



//==========================s=======Ssssss==sssssssssssssss===
// 00000
//===============s==s==s==sssssssssssssSSSSssssSsssssssssssss=s
int main(void)

{

int i, foo;

for (i=1; i<=3; i++){
foo = hoge();
printf (?%d\tfoo=%d\n” , i, foo);

}

return 0;
}
//===========================================================
// 000000000000 0000 hoge
//=====s==s==s==s==s==s==s==sSsSsSsSsSsSsSsSSsSsSsSsSsSsSsSsSsSsSsSssSsSssSssssss==
int hoge(void)

int a=0; // 0000 auto int a=0 O 0K

a++; // a = a+1 0O 00O

return a;

}
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#include <stdio.h>

int hoge(void);

int main(void)

{

int i, foo;

for (i=1; i<=3; i++){
foo = hoge();




14
15
16
17
18
19
20
21
22
23

25
26
27
28
29
30

printf ("%d\tfoo=%d\n”, i, foo);

}

return 0;

int hoge(void)

static int a=0; // 000

a++; // a = a+1 0 00O

return a;

}
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int hoge(void) double fuga(int a) double foo(double b)
{ { {
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#include <stdio.h>
extern int foo; // 0000000000000 0ODO0O0G0ao

int hoge(void); // 00000000

int main(void)

{

int i;

for (i=1; i<=3; i++){

hoge ();

printf ("%d\tfoo=%d\n”, i, foo);
}

return 0;

000 4. 00000000000000000000 (file2.c)O

#include <stdio.h>

int foo=0; // oooooooooao
//=============================================s==============
// 0000000000000 000O00O000O00O0O hoge
//============================================s=s=s=s============
void hoge(void)
{

foo++; // foo = foo+1 O OO
}
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gcc -o jikkou filel.c file2.c
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static int gvalue;
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int gvalue;

extern int gvalue;
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#include <stdio.h>
static int foo=5; // 0000000000

int hoge(void); // 000000000

int main(void)
{
int i;
for (i=1; i<=3; i++){

hoge ();
printf ("%d\ tfoo=%d\n”, i, foo);

}

return 0;

}
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#include <stdio.h>

static int foo=0; // oooooooooao
//===========================================================
// 0000000000000 000O00O0O000O000 hoge
//===========================================================
void hoge(void)
{

foo++; // foo = foo+1 0O OO
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register int rgsval;
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#include <stdio.h>

int main(void)

{

register int i, j, k=0;

for (i=1; i<=10000; i++){
for (j=1; j<=10000; j++){
k=i+j;
}
}

return 0;
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